1. PBxample for Hardwood
(A) Teak (B) Chur
(G, Deodar (D) Fir
2. 5-8% solution of acetic acid in water 1s
called
(A) Milk of magnesia
(B) Baking soda
() Glacal acetic acid

(D) Vinegar

3. The famous pilgrimage town Gaya s
situated on the banks of
(A) Phalgu niver
(B) Godavar: river
() Narmada river
Y Non

of the above

1986
(C) 1985

(B) 1988
(M 1982

5. Wood 18 sometimes discoloured v n 1t
comes 1nto contact with water
known as

\) Wood bark
(B) Wood knot
((") Wood shakes
(D) Water stain

his s

6. The art of cutting of wood by means of the
saws 1s known as
A) Grinding

(B) Drlhing

© Sawing (1)) Rebating
T A
ul\:::c‘“y“ Samiti can be dissolved
on
Pllneh.y,u “L—t:—.__of the Haryana
W an (B)llo
©) 10 >3
" (D) 10 S
B
.':“-
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The remainder obtained when
Ix' + x7 + 2x + 5 is divided by x* + 2x 1 1is
(B) 9x+ 10

(D) -9x+10

(A) O

(C) 9x-10
The size of an electne dnll is determined by
(A) the capacity of the chuck

(B) the capacity of file

(C) the capacity of the framing square
I

(D) the capacity of the plane

This National park of Haryana is sit uated

at Yamunanagar
(A) Bhindawas National Park

(B) Sultanpur National Park
Asola Bhatti National Park
Kalesar National Park

o > 4,

T
i \

tmodecuh

(A) proportional to pressure ol gas
(B) versely proportional to volup~  zas8
(C) inversely proportional to ab ate

temperature of gas
(D) proportional to absolute temperature

ufﬂﬂb

is essentially something associated

with an electronic document that performs
the same function as a manual signature.

(A) Internet Signature
(B) E-commerce Signature
(C) Website Signature
(D) Digital Signature

The timber which is sawn and cut into
suitable commercial sizes are known as

(A) Converted timber
(B) Rough tumber
(C) Smooth timber
(D) Standing timber
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0 e Lo oonnect mobile
computers and FDAs using .Mll_l:::;

wireless connection.
tA) Solid state

(M) Dluetooth

(C) Senal

(D) Universal Senal Bus (1JSB)

Whueh of the following minerals 1w/ure
non-metallic in nature 7

(A} Gypeam (1 Mica
(N Laimestom t1h Al the nbove

Whiuch of the following s not an endogenous
trve *

iV Hamboo (B Cane

i) Kin i Palm

Mnatan Parkash Kaur Wellare Contre aof

Korna! an Harvana treats whvoh of the

In) Slu-w h and “1 “Anng impair

Complewe the series 13 7
(A 27 [ LT
iy 41 (.

Rayn Nahar Singh was the last ruler of
which district of Harvuna ?

(A) Hisar

(B) Ballubgarh

(") Ambaln

(1) Mahendragarh

The process af joining two wooden
moembers at an angle 18 known as

(A) Rebating (B) Plaining
() Chamfering (D Mitring

Certain tyvpes of fungs feed on wood and
during feeding they attack on wood and
convert it o dry powder form. This is
known as

(A) Dry rot

(Cy Blue stain

(B) Wane
(D) Sap rot
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17.
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20.
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In Gurugram of Haryana the Maruthi
Suzuks INU Lid was the first compan that
st up 8 manufactunng unit this city In

(A 196s (1970

(I 10980=

(C) 1950w
Which of the fullowing preservatives are
commonly used for the preservation of
umber ?

(A) Creosote ot
() Water

(B Druxiness
(D) Froxiness

Which among the following Wildhfe
Sanctuary s present at Sirsa distnct of

Harmnvann ’
A Khol Hh-Raan W ddhh Sanctunry

BT

N
Whuch of the followimg s not a circv’
gaw blade

(A) Ripsaw blade

(B) Crosscut saw blade

() Combination blade
(D) Mortise and tenon biade

First Post Office Passport Centre of
Haryana was establhished at

(B) Kaithal
(D Jind

(A) Karnal
(C) Hisar

Two particles having mass M and m are

moving in a circular path having radius
R and r If thewr time ‘in sriods nre snme,
then the ratio of angular velocity will be
R

B) —
r

-
A R

(n) 5
r

i) 1

12

24.

27.
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The type of joint in which two timber
picces are placed touching each other and
Lghen wooden or iron fish-plates are placed
opposite faces are knnwn as

(B) Welded joint
(D) Pinned joint

d joint

(A)
¢ 1ovetted joint

29. The horizontal distance between the
internal faces of walls or supports 15
known as
(A) Span
() Verge

(B) Template
(1 None of these

30. Exogenous trees increase in bulk by
growing outwards and distinet consecutive

5 rings are formed in the horizontal section
L Y of such a tree. These rings are known
; e as
}' (A) Monthly rings  (B) Weekly rings

() Dagly nings (1) Annual rings

!' A1, The Hap=bure dynusty ruled in
§ TTEEES ST France ™ (B) Austria
3 () Italy (D) Spain

A 32. The Rowlatt Act was introducer

% (A) 1919 (B) 192

' (C) 1929 (D) 194

33. Which of the following 1s not an example
for Edge Cutting Tool ?
(A) Chisels (B) Tin Snips
(C) Hatchets (D) Bark

34. The innermost central portion or core
of the tree is called as the
(A) Pith (B) Bark
(C) Sap (D) Cambian

35. This highway has the largest toll plaza
n India

(A) KMP Expressway

(B) GT Road

(C) Delhi - Gurgaon Expressway
(D) Sher Shah Suri Marg
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(") Humayun
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oy 1! (1) None of these
x 9
A troe bascally consists af three paris, il
mamely
tA) Trunk Crown Roots
(M Leal Stem. Flower
() Lewf Hark Knot
i Flower, Siyle Hing
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¢3.  Which of the [ullowing statement/s i/
are true sbout UChhau danoe T

a Chbau s 8 mapoer dance tradison of
castern Indin

b There are three distinet forms of
"hhau had from the reguons of
Sermikella Mavurbhany and Purulia

¢ The dance w performed at night
i an open space w traditwnal and
folk melodios played on the reed
pipes mohuri and shahnai

iA) All the statements are true

(B) Only the statement b s true
(") Only the statement c s true
(D) Only the statement a is trus

14 1 crlebrated w welosume rain

o1 the rafters or eeiling are knowp
A Battens () Puch

() Eaves (I “‘p" alles

46. In the gven question some of the letiers
are mussing The missing letters are
gven in the proper sequence as one of
the alternatsses give n under the questaon
Find vut the curmct ooe

a b o« h _an b

(A) aabab (B ababb
() bhabs D) basha
7. A

12 a flexable disk made up
of mylar with & magnetic coating on it

Al €D
(B) Ploppy disk (1 nakottn)

0% Optacal storage metin
(I Nooe of thase

172020 (5)
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54

e thin radial Gbres sxtending from pith

por cambium laver are known as
iA) Horgontal rays

(B Vartiwal tave

() Medullary rays

(I Cirvular rings

Kxample for Softwood
(A) Oak () Bench
(" Ash (1 Pine

This market of Harvana s considered
ax the largost Cloth Market of Northern

frnddin
(A1 Khyaolia Market
() dawahar Uloth Market

) Saline watoer
(B Glacier we melted water

((") Fresh water
(D Noane of the above

poAp INLerncts with

The wnic-end of the
interacts with

water while the

ol

(A) mitrogen chmn
() earbon chain

() wulphur chain
(D) hydrogon

Which one of the following insect 18 not
responsible for the decay of timber ?

(A) Beetlos (B) Marine Borers

(") Termutes (M Continodes

The vertical member which s uml'lﬂyl’d
1o sub-divide a w indow or o door opening

vertically 18 known us
(B) Hinge

(A) Mulbon
(1 Panel

((") Latch

www.mseducationtv.com
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Es E el
SRl L "
So s = Fy = KB -~ -

The muin presence of Aravalll hulls w»
found i the _ dustrees of Harvaoa

(A) Ambaln i{B) Rohtak
(") Gurugram (1) Yamunanagar

Harvans Statwe was formed on the
recom mendatyon of

A) Chand Commitise

(B Shamlal Commities

(" Sardar Huham Singh Commttes
N Nek: Ram Committee

8£7. Indira Gandhi Umversaty in Harvana was

locsued at
tA) Ambala (B) Rewnn

(M Hisar

(("r harnal

- n

(C) Ridge

WD stands for =
(A) Digital Versatle [hsk
(B) Discrete Versaude Disk
(C) Dynamic Video Disk

(D) Discrete \ idoo Disk

Confers are also known as
(A) Lealess trees

(B) Evergreen trees

1C) Endoganic trees

(D) Broad trunk trees

BL.  Japan’s first Railway line was buil(

between

(A) Tokyo and Yokohama
(B) Tukyo and Osaka

0} Tokyo and Kyoto

D) Tukyo and Fukuoks

e , -10-

172020 (5)
85. wham & fas & s wdn o
safimalk
iA) METEN (1) TTEAW
() TTEUT™H (Ih A=
56. wimmm e &S W s
n\)if!llfﬂfﬁ

57.

569.

61.

(1 A afafa

() wom pn fae wfafa

(1 36 mm wfafa \
¢fen nivh favafagverm rhamm & e i‘
feua @ :
..\é‘gﬂ (1) T !
-\{Q HEATH 1 Yem

sH M TR daTs o dAmAETAR

244 TAA A4 did 3192 &)

(A) &
) fr=
DVD &1 514 R

(A Tafees wdome faes

(B) fefEre wiema feer

() erAfaw Hfzm fear

) feferz ifem foms

wawr 1 @ ®=9 4 off awn s @

(A) THfem 72 .

(1) FZIEEn 78 &
() vEhfas 1z ¢
() famma vz a=n T3 )

AR ) ) 13 v el s o 7 *
(A) ZrFn 3T arsenn )
(B) Zren s siramn
(C) Zren st w2
() Twn 3 TS

(B) =fam
) @

www.mseducationtv.com



67

A pw of Wt through w b b Comn
re ihel the grrwatan] gerson shinabd
b gt sbeed be beae 0l

A Mandars ue
(B Halwas | wrpes
W) Uertsean
(1 Qe Warmnie

Crecodile Boveding ( entry s sabuatedd
distret of Harvans

m
iA) Pawhbkain (M hurukshetra
N Bowan I Hisar

The placw  bere hagheet average raunfall
(8. 'Llﬁ R s

A Hgsar dastrwt i AMew ot distrwt

+ ) Ambaia destrat

' &

b
Fan } ™ b |

LAl el eg T (S|

1) Sarsa (D) Noor

the e

Io Harysns Penchayats AT rose T SLEE
- oA thw Ul wrata

(A) Three fourth (B) One fourth
(1 One half

(™ One thard

Whaeh of the Ballowung distrects of Harvana
was earber knowo s Abdullapur ”

(A) Pantpat (H) Yamunanagar
(" Vardsbad (D) Putehabad

To'(mhtu-ﬂwd‘”““
cut down or caumed to fall W the ground
Thos is known as

(A) Warping of trees

(M Felling of trees

(™ Knotung of trees

(1) Shaking of troes
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g0, THe wpmost horizontal member of the | g9 w177 F wa@ 70 & fod % wea B
Jhutter 1 known as ™ an
A) Sevle (B) Sash (A) ¥ I_ A
() Top raal (D) Top brace () Zm = (D) ZM =
70. 110 can be written as product of primes s | 70. 140 ST F PG S ERA
feren = s B |
(\) BT (B) 4xh=7 (A) 20 ufyxT (B “517‘
(C) 4=Hx9 () 2*x35 () 4259 (D) 2°=36 ,:
71. Humans Mouth - - Birds 7 71. A e os -if’
= b (A) Feather M) Benk (A) T (B W14
(C) Wings (D) Pin () ™ (D) ww=h =™ ’;t, .
(’ !‘
72. Samay starts walking strught towards | 72 m‘? #m qra fom A zeean wr e 3¢ =
Foast After walking 70 metres. he turns Hizs T % am av am gz Tm el {s{
the b1t send as olb= % seters <Urmight -;,I‘-ﬂ’g‘!:{ﬁ. m}{_‘idllw..nmwm 3
‘H;uul;::duulm of 10 iz 7% @ wen st e wd qZ st
m urns Lo - - "
and walks 0 distance of 256 metres 25 lﬂZ" TF T | A F ﬁ:{ 7 aw f&ah
far 1» he from starting point * ’J’ I
(A) 10m (B) 30m (A) oo " 30z
(C) 35 m (D) 50 m (€ a5 e (1 6oz
5
738. An example of Optical medin 1» 73. oA mvm % vs Erem B &q\
(A) Hard disk (B) Floppy disk (A wrE foes (3 i feew
) (b (D) RAM (") M (I h
74.  Recrystallisation of sodium carbonate 7. mfl'lﬂ FAEZ ‘Fﬁ:r{dlwu
ives amt
(A) Baking sodn (B) Washing soda (A) m " () m'i arn
() Boda Lime (D) Soda nsh () ®m &gy () wre m
T8 Parans Quils 1n Delhs was built by 75 fe=hi g e fwen T A .
(A) Akhar (A) ST
(B dahangis (1 W
(C) Bhar Shah Suri (€) 91 viTe g
(D) Nane of the above (1) 79 & % wrf
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80.

81.

Sangat Sahub Gurudwara is located in
the _ district of Harynnn

(B) Panchkula
(D) Rewarni

(A) Panipat
(C) Ambala

In 1937, First Cotton Mill of Harvana set

up at
(A) Bhuwam (B) Narwana
(C") Kakrod (D) Jhapar

The coordinates of the point which divides
the join of (-1, 7) and (4, =3) in the ratio
2:3 are

(A) (1. 3)
() 3, 1)

(B) -1, 3)
(D) None of these

Mm&amnumbermﬂ;efoﬂomng
! ‘_ - 'T"’l S e
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The peculiar curved swellings found on
the body of a tree are known as

(A) Ring lines (B) Rind galls
(C) Ring knots (D) None of these

The process of taking off the shaving from
wood with the help of plane is known as
(A) Rebating (B) Guniting

(C) Planing (D) Seasoning

Making holes in metal or small holes in
wood 1s called as
(A) Seasoning
(C) Dnlling

(B) Curing
(D) Planming
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English Language

B84,  The sentence given here 15 10 active votee
You have to choose from alternatives the
mrrect passave vouws

| spoke to him

(A} Ho was spoken to by me
(B) He was spoken by me.
() 1 was spoken by ham

(D) He had been spoken by me

B4. In the following question, one word is
misspelt. Find out the musspelt word.

(A) Setge
(B) Seree

€'t Mo

Y . 'o_l -, %) “m f«

are given. Find out the correct mer gof
the idiomatic expression from M,

A wald goose chuse

(A) an absurdly hopeless enterprise
(B) a fues over a tnfling matter
()t be insensiive to eriticism

(D) to speak boastfully of oneself

B6. In the following question you are given
one blank. The question is followed by
four choices, only one of which fits the
blank appropriatels That correct choice

18 your answer
I tako interest film-making,
) (B) for

(D) in

172020 (5)

fir=ht

87, sfawm s F i ?

(A) W
(B) i
() #1
(D) 9 & F1 7 .

88, TER wiAgwA R __ ?)
(A) T

89. ‘wa me ¥ faem = L&

(A) 3t

B) fam

(C) WiAtEm

(D) 39 | #13 74

90. FRw=iFrow it sd e g, & =

Feema §

A) wFE
(B) 3rTEneff

(C) TR

(D) % A % 7
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